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Jor the questions

1. Answer the following as directed : 1x10=10

(a) The difference between traditional and
~ modern logic is not one of kind but of
degrees / qualities / languages.

( Choose the correct option )
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(b)

(c)

(d)

(e)

i)

A23/759

Every compound statement is truth-
functional. s it true?

T TOl TR | 305!

bPvyq
=D
S.q
What is the name of this rule?
@2 G 99 52
Who is the author of the book,

Prior Analytics?
Prior Analytics 93373 o149 @2

A conjunctive function is true if any one

of the conjuncts is true. Is this Statement
correct?

aﬁwwwgwwﬁ
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Shortelj .truth table method is 2 part of
Propositional logic / Predicate logic.

( Choose the correct option )
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( Continued )

(g

(h)

(i)

G)

Give an example of subjectless proposition.

ST REA o @bl Srrad |

Truth or falsity is a property of logic /
proposition / argument.
( Choose the correct option )

oSl Wiz Spreel (xR SEREHE / o /
g |
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Ideograms directly stand for
( Fill in the blank )

el 523 eorpeid et 9|
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Are symbols and signs same?

2S5 Wi bz 9@ @R ?

2. Answer the following questions in brief : 2x5=10

TOd AR B Owd

(a) Give the definition of a proposition

(b)

A23 /759

according to modern logic.
S SFR@IN P e e

Write two distinctions between logical
constant and variable.
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c) IfA isti i I
b Y andf? are true statements and X and (b) Distinguish between general proposition
are false statements, then determine and class-membership proposition.

whether the following is true or false - A TSl BT
nﬁAWBwarwxwyw—q@, A TR ; i

(R TS RISt 8] (7 sprey Fiefy <pat - it
(Av X).(Y v B)
(d) Mention two similarities between direct R e S
and indirect truth table. R
@@z{w :ﬁ % Aore! SRR T Al TOl PR ATS SRS (inter-
. definability) JFC ¢ T=1? I <1
(¢) Symbolize the following statements -
9elq AR .
‘ ﬁ@ﬁ;ﬁ[@ % FOPF oS 1 - (d) Distinguish between inclusive and exclusive
(i) If.lt Idoesn t ramn, then we shall go for sense of disjunctive truth-function.
picnic.
3t e i, e Rte Tore! TR FEE S kgl wd
i, » COWRE SifYy <ecstertar TR N4, T =
(ii) Tt is false that Russia has won the
Y (e) State the rules of inference that are used
e LS G for constructing formal proof of validity.
- L el A 0T R IR A
3. Answer any four of the following questions 2:‘;::; Pz S

Sod pTgRd R I SiRBR Tag Ry k4

(a) Write a short note on the characteristics O s iy &

of symbolic logic. in logic.
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4. Answer the following questions : 10x4=40 (c) What is truth-function? Construct truth
SO PR ©ed il table for the basic truth-functions.  2+8=10
{a) What is gcncral proposition? Explain the Topel T (87 QTR TSR M

classifications of general proposition with Tepol ifErel oo |
proper examples. 2+8=10 Or / 911
A o 17 @W SAIRIPTR AL o7 What is indirect truth table method?
coAferE <ot w4 | Construct indirect truth table to determine
Or [ 9341 the validity or invalidity of the following
Discuss the points of similarities and arguments : 2+4+4=10
dissimilarities between traditional and A ool Siferet 57 oo Ifevea el
modern logic. 10 b 3 SEgel e PR HAEH Aope! Siferpt
TS TIF AT SHREmT Tes ol ' 5 41
AP < PP S | | (i) (R.Q)VS
(b) What is logical connective? Give brief &
introduction to different kinds of logical ~Q/..5.R
connectives used in symbolic logic. 2+8=10 0 (PvQ).(~S.Q
oo MRS AH 57 oSN shiwme g '
TZe @A Rfen o sweemze T s
AT ol | DR
Ol (d) What is formal proof of validity? What are
What‘ is symbol? What is the role of the strategies for constructing a formal
symbols in translating our everyday proof of validity? Discuss. 2+8=10
language? 2+8=10 o SRS e B TR Sl
ol 57 WIfi Tl &S Aol 311 i mqmwﬁsﬁsc«mamstEﬂ?
SRRIM TR (PS4SR SRl ST 1 | A 4
A23/759 ( Continued ) A23 /759 ( Turn Over )

__-—I B IRt W B RS



(8

Or / 941
Construct a formal proof of validity for the
following arguments : 5+5=10
o IR T (FHOIF PIATS 2fF1e 15
4
(i) (~K.P)>(BVR)
~ K D(B>D)
~ KV (RDE)

ONKE PR /ADNEE,

(ii) E>D(F.~G)
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